Math I More Zeros of Polynomials and Sketching

ff(x) = (x+2)2(x—2)(x—4)

Y- Intercept:

End Behavior: if x — oo theny —
if x > —co theny —
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X - Intercepts:

Y- Intercept:

End Behavior; ifx—>ctheny—

ifx > —co theny —
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Zeros:
X - Intercepts:

Y- Intercept:
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End Behavior: ifx > theny —__




Math I More Zeros of Polynomials and Sketching

Kf(x) = (ZX + 3)(4)( —3)(x—5)

Zeros:
X - Intercepts:

Y- Intercept:

End Behavior: ifx — oo theny —
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X - Intercepts:

Y- Intercept:

ifx > —co theny —

End Behavior:  jfx — co theny —
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Zeros:
X - Intercepts:
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End Behavior:
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